
Part No. Description Qty. 

642-015 8ft Champion Table Top 1 

622-015 8ft Champion Seat/Back 2 

632-300 Double Pedestal Stand 
(surface mount) 

2 

516-028 3/8” SS Nylock Nut 12 

516-058 3/8” x 1-1/2” SS Hex Bolt 12 

516-023 3/8” SS Washer 24 

924-507

Periodic check of bolt tightness recommended. 

Assembly Instructions 

1. Drill out holes in the table top, seats and stands with a 7/16” dia. drill bit.
2. Fasten the stands loosely to the inside of the cross supports.
3. Make sure the stands are vertical. If a stand is not vertical you will have to
remove the bolts and rotate the stand 180 degrees, then attach it to the top and
seats again.
4. Tighten all bolts and secure to floor with appropriate fasteners.

641
272

20

30

921-307 6FT CLASSIC DOUBLE
PED. SURFACE MOUNT TABLE

8’ Champion Expanded Double Pedestal Surface Mount Table (6’ Classic Table Shown) 

Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.



Part No. Description Qty. 

642-015 Champion Table Top 8’ 1 

622-015 Champion Seat/Back 8’ 2 

633-131 Pedestal Stands (Table) 
(Surface Mount) 

2 

633-141 Pedestal Stands (Seat) 
(Surface Mount) 

4 

516-028 3/8” SS Nylock Nut 12 

516-058 3/8” x 1-1/2” SS Hex Bolt 12 

516-023 3/8” SS Washer 24 

924-505

1 Drill plastic out of the mounting holes on the pedestals, top and seats using a 7/16” dia. drill bit. 
2 Fasten the table top and seats to the pedestals. 
3 Position the table and seats and anchor them to the floor. 

Periodic check of bolt tightness recommended. 

621
2

61
4

924-505 8' CHAMPION TABLE
MULTI PEDESTAL

96

20
30

Cari
Typewritten Text
In Accordance to California law: WARNING This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.



 10"  30"  10" 

 6' 

4

5

 20" 
 30" 

1

2

3

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 638-120 Single Pedestal Stand for 6' Table 1

2 638-122 Table Top Mount for 6' Single Pedestal Table 1

3 638-021 Seat Mount for 6' Single Pedestal Table 2
4 622-013A 6' Champion Seat for Single Pedestal 2

5 642-013A Champion Table Top 6' for Single Pedestal 1

6 516-054 3/8"x2" SS Hex Head Bolt 12
7 516-058 3/8"x1-1/2" SS Hex Bolt 8
8 516-023 3/8" SS Flat Washer 34
9 516-028 3/8" SS Nylock Nut 20

X.01

924-3096' Single Pedestal Surface Mount Table

SHEET 1 OF 2REV.A
SIZE



Drill plastic out of the mounting holes on the stands, seats and table using a 7/16" 1.
diameter drill bit.
Attach the seats and table to the support brackets (no. 2 & 3)with fixings 2.
provided and tighten up.
Attach the support brackets to the stand with fixings provided and tighten up.3.
Stand the table in its final location and mark out base holes.4.
Move the table to a safe place and drill holes.5.
Place the table back, level and secure down using appropriate fixings for the 6.
ground material.

Tools List
7/16" Drill bit •
9/16" Socket•
9/16" Wrench•
Level•
Imapct Gun (Optional)•
Drill•

X.01

924-3096' Single Pedestal Surface Mount Table

SHEET 2 OF 2REV.A
SIZE

Cari
Typewritten Text
In accordance to California law: WARNING - This product contains a chemical known to the State of California to cause cancer and birth defects or other reproductive harm.

Cari
Typewritten Text


	924_DPSM
	924_MPSM
	924_SPSM
	Sheet1
	Drawing View1
	Drawing View2

	Sheet2
	Drawing View3





